Problem £
» £ P 6 k/y
= /N - 9kN
VAREA 3m =um
A X o= =
v fé) 6 @
A Yy ! o
t d

|03 ) E
s SMg=0
/I,Ym AN / o
A"a&( y%‘f"‘%’ A, + 3P = (P k3P
T8 J 6o A= SKN ]
] P 2 Y9 SE =0 — A = -1N
"y b ¢ = - .
YT T 7 'FE
) / ;i‘_eE_ ZN\B =0
An‘é/__“r/_;‘>§: L 3A, + 3P +3F.=0
%) 1“ _ = -3 - (3 =I5k
A 3 Fo = 15kV ()
a0y /
ZFV\ =0 — A’\ 1 E_&f 9
~ \fz 3l (T)
z0 = E {:c! -EF&E ’\": il

i MW(ﬂ{







’ ?mb\@vw 3 p
=

Pive of wergk W-
o
»Show Yuadt jor %Mppin% P= W, sivodO)
TR enl30).
%&%Lﬂ IS Stahc @w‘m m&g@
N
e / ; Along ¥ue ncred Pewe
i i\ e Hre- ’P‘\ P@ a8

mov\v%we\/\owe ot

owd Fo= PN, thelegove

N Prosp-F5-Wsinw =0 '
or | Peosh— PsN-WSinx=06 \@

Also ue. kowe. ZF=0 cerpendiculed +0 He
wclned. plawe, hemee

PSM(jD-FUfWCCX 04=0 :;>“ =W s — DS\@ $@

Flom & owd € we get’
?Cosd} PgW (ool + ,USPym b _Wasmal=0o

P (cosp+ Losmd) = )Jb\/éCO.SOL—\* WS Y LS; tom®
P COSQ)%SL,\S)%SW\@; %Cv:ﬁb.e\/\) cafos+Wsined .
P ((quyc,oge A—S\WSS\M(})) ='W (oo snB +cos Sm%)

:>?: = (')\*9)
\ coSﬁﬁ@)




